
 

Freya receives some pocket money. 

She spends 

 
1

5
 of the money on a book. 

 
3

4
 of what she has left on a game. 

 

 

Freya now has £3.80 left. 

How much pocket money did she 
receive? 

 

 

KS2 Problem of the Day 

Tuesday 6th March 2018 

1 Mr Khan hires a bike on holiday. 

The table shows the costs. 
 

 

 

 

 

 
Mr Khan hires the bike from 10.45am 
to 2.15pm. 

How much does it cost him to hire the 
bike? 

 

2 

First hour £12 

Every additional 
half hour £4.50 

 

Holiday Bikes 
For Hire 


